Ways to prove Triangles Similar
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Proving Triangles Similar
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Using Similarity to
Find Measure
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Suppose a mirror is placed on the ground as shown. You position
yourself fo see the top of the sculpture reflected in the mirror.
An important property of physics states that in such a case, the
angle of incidence is congruent to the angle of reflection.

9. Prove that the two triangles are similar. AABL ™~ A C
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10. Add to your diagram the following measurements.
¢ The ground distance between you and the mirror
image of the top of the column is 6 feet 5 inches.
» The ground distance between the mirror image and
the base of the column is 116 feet 8 inches.
¢ Assume that the distance from the ground up to
your eyes is 66 inches.

About how tall is the column?

G W= log
T'; 400
T7h= 92,400

5|=._.,.

h=1200"

&L



QO
bs-
ko

11. As part of their annual October outing to study the
changing colors of trees in northern Maine, several scinece
club members from Pland Regional High School decided to
test what they were learning in their math class by finding
the width of the Penobscot River at a particular point A as
shown below.

Pacing from point A, they located points D, E, and C as shown in the
diagram below,

What is your estimate of the width of the river at point A?
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